Scenario_1_vs_scenario_2_gdb_logs_comparison
Erstellt: 9/22/2023 9:24:38 AM

Modus: Unterschiede, Im Kontext
Linke Datei: D:\Projects\[....\docs\NXP\Community _tickets\O1_Debug_issues\Screnario_1_gdb _log_of start_sequence.txt

Rechte Datei: D:\Projects\[....]\docs\NXP\Community tickets\01 Debug issues\Screnario 2 gdb log.ixt

10 cc = 0 = 10 cc =0

11 config string = 11 config string =

12 ccs_get cc config; ccs_error = 23 12 ccs_get cc config; ccs error = 23

13 Error message: CC not present 13 Error message: CC not present

14 |ccs _config cc 14| ccs_config cc

15 serverh = 0 15 serverh = 0

16 config string = s32dbg:169.254.158.76 <> 16 config string = s32dbg:169.254.190.174

17 ccs_config cc; ccs _error = 0 = 17 ccs_config cc; ccs_error = 0

18|ccs_set connection timeout 18| ccs_set connection_ timeout

19 serverh = 0 19 serverh = 0

20 timeout = 100 20 timeout = 100

21 ccs_set connection timeout; ccs error = 0 21 ccs_set connection timeout; ccs error = 0

22|ccs config server 22| ccs config server

193 0x00000004 0x00000004 0x00000004 0x00000004 =] 193 0x00000004 0x00000004 0x00000004 0x00000004
194 0x00000004 0x00000004 0x00000004 0x00000004 194 0x00000004 0x00000004 0x00000004 0x00000004
195 0x00000004 0x00000004 0x00000004 0x00000004 195 0x00000004 0x00000004 0x00000004 0x00000004
196 0x00000004 0x00000004 0x00000004 0x00000004 196 0x00000004 0x00000004 0x00000004 0x00000004
197 0x00000004 0x00000004 0x00000004 0x00000004 197 0x00000004 0x00000004 0x00000004 0x00000004
198 0x00000004 0x00000004 0x00000004 0x00000004 198 0x00000004 0x00000004 0x00000004 0x00000004
199 handle = 7 <> 199 handle = 1
200 ccs_add register group; ccs_error = 0 = | 200 ccs_add register group; ccs_error = 0
201 |ccs read register group 201|ccs read register group
202 B serverh = 0 202 B serverh = 0
203 cc =0 203 cc =0
204 handle = 7 <> | 204 handle = 1
205 [chain pos:1 index: 8192 count:1 size:4] = 205 [chain pos:1 index: 8192 count:1 size:4]
206 value: 00000000 206 value: 00000000
207 [chain pos:1 index: 8193 count:1l size:4] 207 [chain pos:1 index: 8193 count:1l size:4]
208 value: 00000000 208 value: 00000000
209 [chain pos:1 index: 8194 count:1l size:4] 209 [chain pos:1 index: 8194 count:1l size:4]
210 value: 00000000 <> 210 value: 00000001
211 [chain pos:1 index: 8195 count:1l size:4] = 211 [chain pos:1 index: 8195 count:1l size:4]
212 value: 00000000 <>| 212 value: FFFFFFFF
213 [chai pos:1 index: 8196 count:1 size:4] = | 213 [chai pos:1 index: 8196 count:1 size:4]
214 value: 00000000 214 value: 00000000
215 [chain pos:1 index: 8197 count:1l size:4] 215 [chain pos:1 index: 8197 count:1 size:4]
216 value: 00000000 <>| 216 value: 00000001
217 [chain pos:1 index: 8198 count:1l size:4] = | 217 [chain pos:1 index: 8198 count:1 size:4]
218 value: 00000000 <>1| 218 value: FFFFFFFF
219 [chain pos:1 index: 8199 count:1 size:4] = | 219 [chain pos:1 index: 8199 count:1 size:4]
220 value: 00000000 <>| 220 value: 34065C34
221 [chain pos:1 ndex: 8200 count:1 size:4] = | 221 [chain pos:1 ndex: 8200 count:1 size:4]
222 value: 00000000 <>| 222 value: 3402044F
223 [chain pos:1 index: 8201 count:1 size:4] = | 223 [chain pos:1 index: 8201 count:1 size:4]
224 value: 00000000 224 value: 00000000
225 [chain pos:1 index: 8202 count:1l size:4] 225 [chain pos:1 index: 8202 count:1 size:4]
226 value: 00000000 226 value: 00000000
227 [chain pos:1 index: 8203 count:1l size:4] 227 [chain pos:1 index: 8203 count:1l size:4]
228 value: 00000000 <>| 228 value: 40000200
229 [chain pos:1 index: 804 count:1l size:4] = 229 [chain pos:1 index: 804 count:1 size:4]
230 value: 00000000 <>1| 230 value: 34065C34
231 [chain pos:1 index: 8205 count:1l size:4] = 231 [chain pos:1 index: 8205 count:1l size:4]
232 value: 34242000 <> | 232 value: 34242024
233 [chain pos:1 index: 8206 count:1l size:4] = 233 [chain pos:1 index: 8206 count:1l size:4]
234 value: 34020405 <> | 234 value: 3402044F
235 [chain pos:1 index: 8207 count:1l size:4] = 235 [chain pos:1 index: 8207 count:1l size:4]
236 value: 34020404 <>| 236 value: 00000000
237 [chain pos:1 index: 8205 coun:1l size:4] = 237 [chain pos:1 index: 8205 coun:1 size:4]
238 value: 34242000 <>| 238 value: 34242024
239 [chain pos:1 index: 8206 count:1l size:4] = 239 [chain pos:1 index: 8206 count:1l size:4]
240 value: 34020405 <>\ 240 value: 3402044F
241 [chain pos:1 index: 8207 count:1l size:4] = 241 [chain pos:1 index: 8207 count:1l size:4]
242 value: 34020404 <> | 242 value: 00000000
243 [chain pos:1 index: 8208 count:1l size:4] = 243 [chain pos:1 index: 8208 count:1l size:4]
244 value: 01000000 <> | 244 value: 40000003
245 [chain pos:1 index: 8209 count:1l sized] = 245 [chain pos:1 index: 8209 count:1l size4]
246 value: 34242000 <>| 246 value: 34242024
247 [chain pos:1 index: 8210 count:1l size:4] = 247 [chain pos:1 index: 8210 count:1l size:4]
2438 value: 00000000 248 value: 00000000
249 [chain pos:1 index: 8212 count:1 size:4] 249 [chain pos:1 index: 8212 count:1 size:4]
250 value: 00000000 250 value: 00000000
251 [chain pos:1 index: 8212 count:1 size:4] 251 [chain pos:1 index: 8212 count:1 size:4]
252 value: 00000000 252 value: 00000000
330 value: 01000000 = 330 value: 01000000
331 [chain pos:1 index: 4940 count:1l size:4] 331 [chain pos:1 index: 4940 count:1l size:4]
332 value: 00000011 332 value: 00000011
333 ccs_read register group; ccs_error = 0 333 ccs_read register group; ccs_error = 0

334 |ccs read memory 334 |ccs read memory

335 B coreh = [serverh:0;cc index:0;chain pos:1] 335 B coreh = [serverh:0;cc index:0;chain pos:1]

336 addr = [space:0;size:4;address hi:0x00000000;address 10:0x34020404] <> | 336 addr = [space:0;size:4;address hi:0x00000000;address 10:0x00000000]
337 data: (size = 4) = | 337 data: (size = 4)

338 FEETFEE7 <>| 338 D1010060

339 ccs_read memory; ccs_error = 0 = | 339 ccs_read memory; ccs_error = 0
340 |ccs_read memory 340 | ccs_read memory
341 coreh = [serverh:0;cc index:0;chain pos:1] 341 coreh = [serverh:0;cc index:0;chain pos:1]
342 addr = [space:0;size:2;address hi:0x00000000;address 10:0x34020404] <> | 342 addr = [space:0;size:4;address _hi:0x00000000;address 10:0x40000200]
343 data: (size = 2) 343 data: (size = 4)
344 FEE7 344 D1010060
345 ccs read memory; ccs error = 0 345 ccs read memory; ccs error = 76

B B B 346 Error megsage: Bus error

346 |ccs _write register = | 347|ccs_write register

347 coreh = [serverh:0;cc index:0;chain pos:1] 348 coreh = [serverh:0;cc index:0;chain pos:1]

348 index = 8206 B B 349 index = 8206 B B
349 count = 1 350 count = 1
350 size = 4 351 size = 4
351 value: (size = 4) 352 value: (size = 4)
352 00000000 353 00000000
353 ccs_write register; ccs_error = 0 354 ccs_write register; ccs error = 0
354 |ccs read register group 355|ccs read register group

355 B serverh = 0 356 B serverh = 0

356 cc =0 357 cc =0

357 handle = 7 <> | 358 handle = 1

358 [chain pos:1 index: 8192 count:1l size:4] = 359 [chain pos:1 index: 8192 count:1l size:4]
359 value: 00000000 360 value: 00000000
360 [chain pos:1 index: 8193 count:1l size:4] 3601 [chain pos:1 index: 8193 count:1l size:4]
361 value: 00000000 362 value: 00000000
362 [chain pos:1 index: 8194 count:1l size:4] 363 [chain pos:1 index: 8194 count:1l size:4]
363 value: 00000000 <> | 364 value: 00000001
364 [chain pos:1 index: 8195 count:1l size:4] = 365 [chain pos:1 index: 8195 count:1l size:4]
365 value: 00000000 <>| 366 value: FFFFFFFF
366 [chai pos:1 index: 8196 count:1 size:4] = 367 [chai pos:1 index: 8196 count:1 size:4]
367 value: 00000000 368 value: 00000000
368 [chain pos:1 index: 8197 count:1l size:4] 369 [chain pos:1 index: 8197 count:1l size:4]
369 value: 00000000 <> | 370 value: 00000001
370 [chain pos:1 index: 8198 count:1l size:4] = | 371 [chain pos:1 index: 8198 count:1 size:4]
371 value: 00000000 <> | 372 value: FFFFFFFF
372 [chain pos:1 index: 8199 count:1l size:4] = | 373 [chain pos:1 index: 8199 count:1 size:4]
373 value: 00000000 <> | 374 value: 34065C34
374 [chain pos:1 ndex: 8200 count:1 size:4] = | 375 [chain pos:1 ndex: 8200 count:1 size:4]
375 value: 00000000 <> | 376 value: 3402044F
376 [chain pos:1 index: 8201 count:1 size:4] = | 377 [chain pos:1 index: 8201 count:1 size:4]
377 value: 00000000 378 value: 00000000

378 [chain pos:1 index: 8202 count:1l size:4] 379 [chain pos:1 index: 8202 count:1l size:4]
379 value: 00000000 380 value: 00000000
380 [chain pos:1 index: 8203 count:1l size:4] 381 [chain pos:1 index: 8203 count:1l size:4]
381 value: 00000000 <> | 382 value: 40000200
382 [chain pos:1 index: 804 count:1l size:4] = 383 [chain pos:1 index: 804 count:1 size:4]
383 value: 00000000 <> | 384 value: 34065C34
384 [chain pos:1 index: 8205 count:1l size:4] = 385 [chain pos:1 index: 8205 count:1l size:4]
385 value: 34242000 <>| 386 value: 34242024
386 [chain pos:1 index: 8206 count:1l size:4] = 387 [chain pos:1 index: 8206 count:1 size:4]
387 value: 00000000 388 value: 00000000




388 [chain pos:1 index: 8207 count:1l size:4] 389 [chain pos:1 index: 8207 count:1l size:4]
389 value: 34020404 <>1| 390 value: 00000000
390 [chain pos:1 index: 8205 coun:1l size:4] = 391 [chain pos:1 index: 8205 coun:1 size:4]
391 value: 34242000 <> | 392 value: 34242024
392 [chain pos:1 index: 8206 count:1l size:4] = 393 [chain pos:1 index: 8206 count:1 size:4]
393 value: 00000000 394 value: 00000000
394 [chain pos:1 index: 8207 count:1l size:4] 395 [chain pos:1 index: 8207 count:1 size:4]
395 value: 34020404 <> | 396 value: 00000000
396 [chain pos:1 index: 8208 count:1l size:4] = | 397 [chain pos:1 index: 8208 count:1 size:4]
397 value: 01000000 <> 398 value: 40000003
398 [chain pos:1 index: 8209 count:1 sized] = | 399 [chain pos:1 index: 8209 count:1 sized]
399 value: 34242000 <> | 400 value: 34242024
400 [chain pos:1 index: 8210 count:1 size:4] = | 401 [chain pos:1 index: 8210 count:1 size:4]
401 value: 00000000 402 value: 00000000
402 [chain pos:1 index: 8212 count:1l size:4] 403 [chain pos:1 index: 8212 count:1l size:4]
403 value: 00000000 404 value: 00000000
404 [chain pos:1 index: 8212 count:1l size:4] 405 [chain pos:1 index: 8212 count:1l size:4]
405 value: 00000000 406 value: 00000000
483 value: 01000000 = | 484 value: 01000000
484 [chain pos:1 index: 4940 count:1l size:4] 485 [chain pos:1 index: 4940 count:1l size:4]
485 value: 00000011 486 value: 00000011
486 ccs_read register group; ccs_error = 0 487 ccs_read register group; ccs_error = 0
487 |ccs_read memory 488 | ccs_read memory
488 coreh = [serverh:0;cc index:0;chain pos:1] 489 coreh = [serverh:0;cc index:0;chain pos:1]
489 addr = [space:0;size:4;address hi:0x00000000;address 10:0x34020404] +-
490 data: (size = 4)
491 FEE7FEE7
492 ccs_read memory; ccs_error = 0
493 |ccs_read memory
494 coreh = [serverh:0;cc _index:0;chain pos:1]
495 addr = [space:0;size:2;address hi:0x00000000;address 10:0x34020404]
496 data: (size = 2)
497 FEE7
498 ccs_read memory; ccs _error = 0
499 |ccs read register
500 coreh = [serverh:0;cc index:0;chain pos:1]
501 index = 4940
502 count = 1
503 size = 4
504 value: (size = 4)
505 00000011
506 ccs_read register; ccs error = 0
507 | ccs_read memory
508 coreh = [serverh:0;cc index:0;chain pos:1]
509 addr = [space:0;size:4;address hi:0x00000000;address 10:0x00000000] = | 490 addr = [space:0;size:4;address hi:0x00000000;address 10:0x00000000]
510 data: (size = 4) 491 data: (size = 4)
511 00000000 <>| 492 D1010060
512 ccs_read memory; ccs_error = 0 = | 493 ccs_read memory; ccs_error = 0
513 |ccs_read memory 494 | ccs_read memory
514 coreh = [serverh:0;cc index:0;chain pos:1] 495 coreh = [serverh:0;cc index:0;chain pos:1]
515 addr = [space:0;size:4;address hi:0x00000000;address 10:0x00000000] <> | 496 addr = [space:0;size:4;address hi:0x00000000;address 10:0x40000200]
516 data: (size = 4) = 497 data: (size = 4)
517 00000000 <> 498 D1010060
518 ccs_read memory; ccs_error = 0 499 ccs_read memory; ccs_error = 76
500 Error message: Bus error
519 |ccs_read register 501 ccs multi core run mode
502 chain pos: (size = 1) { 1 (undefined) }
503 ccs multi core run mode; ccs_error = 76
504 Error message: Bus error
505|ccs:Bus error
506 ccs _run multi core
507 chain pos: (size = 0) {}
508 ccs_run multi core; ccs_error = 6
509 Error message: Invalid parameter
510 ccs:Invalid parameter
511]ccs run core
520 coreh = [serverh:0;cc index:0;chain pos:1] = | 512 coreh = [serverh:0;cc index:0;chain pos:1]
521 index = 4940 <>
522 count = 1
523 size = 4
524 value: (size = 4)
525 00000011
526 ccs_read register; ccs_error = 0 513 CCs_run _core; ccs_error = 74
514 Error message: Core disabled
515[ccs:Core disabled




